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Komerční použití dat jízdního řádu pouze se svolením vydavatele. 

1

u 182 Staňkov - Poběžovice
km ČD, a.s. Vlak 17402 17404 17406 17408 17410

+!
17422 17412 17414 17416

#$
0 Staňkov 180 W 6 55 W 8 04 $( 9 21 12 06 $£ 13 41 W 16 13 17 24 20 15
5 Křenovy 3 Ý {¢7 01 Ý {¢8 10 Ý {¢9 27 {12 12 Ý {13 47 Ý {16 19 {17 30 {20 21
7 Semošice-Peřina 3 Ý {¢7 04 Ý {¢8 13 Ý {¢9 30 {12 15 Ý {13 50 Ý {16 22 {17 33 {20 24
8 Semošice 3 Ý {¢7 07 Ý {¢8 16 Ý {¢9 33 {12 18 Ý {13 53 Ý {16 25 {17 36 {20 27

12 Horšovský Týn Ý 7 18 Ý 8 22 Ý 9 39 12 24 Ý O14 29 W 15 26 Ý 16 38 17 42 20 34
15 Mašovice 3 Ý {¢7 22 Ý {¢8 26 Ý {¢9 43 {12 28 Ý 14 34 Ý 15 31 Ý {16 42 {17 46 {20 38
17 Meclov 3 Ý {¢7 25 Ý {¢8 29 Ý {¢9 46 {12 31 Ý 14 37 Ý 15 34 Ý {16 45 {17 49 {20 41
19 Ohnišťovice 3 Ý {¢7 28 Ý {¢8 32 Ý {¢9 49 {12 34 Ý 14 41 Ý 15 37 Ý {16 48 {17 52 {20 44
20 Zámělíč 3 Ý {¢7 31 Ý {¢8 34 Ý {¢9 51 {12 36 Ý 14 44 Ý 15 40 Ý {16 50 {17 54 {20 46
22 Poběžovice 184 / W 7 34 W 8 37 $( 9 54 12 39 $£ 14 47 W 15 44 W 16 53 17 57 20 49

Do stanice Bělá nad
Radbuzou

#$ nejede 24., 25., 31.XII.
$£ jede v W a E 

$( jede v E a X +! 17410 / 27506 f Staňkov - Bělá nad
Radbuzou v E 

O 17410 příjezd v 13 58

v 182 Poběžovice - Staňkov
km ČD, a.s. Vlak 17403 17405 17407 17409 17411 17413 17417

#$
Ze stanice Bělá nad

Radbuzou
0 Poběžovice 184 $£ 5 52 £$ 6 56 11 18 $£ 12 58 W 15 07 16 21 19 17
2 Zámělíč 3 Ý {¢5 54 Ý 6 59 {11 20 Ý {13 00 Ý 15 09 {16 23 {19 19
3 Ohnišťovice 3 Ý {¢5 56 Ý 7 02 {11 22 Ý {13 02 Ý 15 11 {16 25 {19 21
5 Meclov 3 Ý {¢5 59 Ý 7 06 {11 25 Ý {13 05 Ý 15 15 {16 28 {19 24
7 Mašovice 3 Ý {¢6 02 Ý 7 10 {11 28 Ý {13 08 Ý 15 18 {16 31 {19 27

10 Horšovský Týn Ý 6 07 Ý 7 17 11 33 Ý 13 13 Ý O15 43 16 37 19 32
14 Semošice 3 Ý {¢6 12 Ý {¢7 22 {11 38 Ý {13 18 Ý {15 49 {16 42 {19 37
15 Semošice-Peřina 3 Ý {¢6 15 Ý {¢7 25 {11 41 Ý {13 21 Ý {15 51 {16 45 {19 40
17 Křenovy 3 Ý {¢6 19 Ý {¢7 29 {11 45 Ý {13 25 Ý {15 55 {16 49 {19 44
22 Staňkov 180 / $£ 6 25 £$ 7 35 11 51 $£ 13 31 W 16 02 16 55 19 50

#$ nejede 24., 25., 31.XII. $£ jede v W a E £$ jede v W a X, nejede 17.XI. O 17411 příjezd v 15 23


